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Solve the following system of equations:
Inconsistent System (planes do not intersect)
  
2x + y ­ 3z = ­3
  x + 3y ­ 4z = 11
  x + 8y ­ 9z = 5 
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 Consistent System Dependent Solution 
 (planes intersect along a line)
  

Write a general solution in terms of a parameter (i.e. z = t).  For
each value assigned to the parameter there will be one distinct
solution.
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Types of Systems
Remember:  Looking at intersecting planes!

Consistent: At least one solution

Independent: One Unique solution

Dependent: Infinite number of solutions 
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3 Possible Orientations That Give No Solution...

(1) (2) (3)

Inconsistent: No Solutions
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More Word Problems
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Homework
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